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EATING TOO
MUCH IS NOT
GOOD

Hello! Prasad! How long have
been wearing glasses? I see
you wearing for the first time

just now.

I started wearing glasses for the
last four days only. Do you
have any houses vacant in
your area?

Why?

I want one.
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Lesson 25

Why? Your house is all right.
Isn’tit?

The house is good. But it is
getting difficult to stay in that
house.

Why? Is not your landlord a
good person.

The landlord is a good person.
But the house is entirely dark.
The lights should be on all the
time. That is not all. Itis also
far off from the office. It is
difficult to go and come back.

The house rents are higher in our
area than in your area.

So what? The houses in your
locality are more convenient
than in our locality. They are
big too. Is your landlord a
good man?

Yeah! All people in our locality
are good. No bad people here.
There is one house vacant be-
side my house. Come with me.

Now the time is not sufficient.
It is not known whether bus
is available or not.

Tomorrow is holiday. Isn’tit?
Come tomorrow morning.

Okay.

Kok
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Come on, Prasad. Our
neighbouring house is vacant.
But the kitchen is small.

Come on; show it.

Come. This is the house. This
Papa is the daughter of the
landlord. Papa! What is
your sister doing?

My elder sister is in the kitchen,
sir!  She is cooking. The
younger sister is playing with
a girl from next door. All the
time she indulges in games.

You too play!

Playing in the mornings is not
good, sir!
I see! You are a good girl.

Take these chocolates.

One is enough, sir! Eating too
much is not good.

Papa! What are you studying
presently.

I am not studying anything now,
sir! I am putting on a wrap-
per to this book.

No, not that my dear! I am
saying what class are you in

now.
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I am in second standard, sir!
I see! What lesson are they

teaching now in your school?

Now they are not teaching any
lessons, sir. They are telling
stories, and teaching songs.
They are also teaching draw-
ing pictures.

Then, sing a song.

I am singing. Please listen, sir.
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b. Build-up drill
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c. Substitution drill.
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d. Interlocked substitution drill.
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e. Response drill

Model (i)
B0 DOPE Gowd? 2. TEED )ed Pl TIO?
B0 DOPET 0T, 3. JOP 830 oL F¢w?

1. 3% 59 Japdo 5TO? 4. 828 Jopd Sden TmO?

Model (i) 31 ®OPE e QYL JFTT?
QP QYO0 b@?@@o er é@o.
QD] RDPE g Treo §uTT?
TOT) QOPE E00 FotnT)r?
Qoerl QP & wods ST ?
08 é@?@éscéa DERE0LITIT?
S5 @& HHE LrdnotnTo?
ST S0 BERTNT?

Model (iii) e& 38 TuTH? (9R%0)
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A0 DHEE ehTmcd? (8wado)

3 DO B0 B0k ? (23550)

4. 308 Dow%H 008 EHotTY? (esbiiso)

Model (iv) 20 $50)6 &8 $6(18 SOHSTNE? (Sormcko)
&8 B6(1& SBSLOBE0E! G BEHE BSEHETE.
1. D6F) $hg 008 S8 ScdHETT? (2.58)
WA Y WG SS1S S0IETNT? (k)
3. 3oy Py DE S8 SoyTT? (§0)

Model (v) 81 & @30 SotoT)o?
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f. Transformation drill.

Model
@953 TP 0B, 2. &35"@(5&(?(50 JE0 5)333@00@653.
BLD TLO FCIEITYED. 3. 080 @50 SILoBL.
1. 36 20d8 bc‘?é)éoo@cﬁa. 4. 5 A T D dDWoBL.
EXERCISES

a. Answer the following questions based on the text of the lesson.

1. P8 §HFw ) Fro 0D 3. T WEHOLY Do BNIH?

2ERE0L0T? 4. FD FOPE D0 BAIG?
2. OGO & ¥of wokeo 5. mapdd a8 Jo DRTDH?
QOO EQOIT Gok? TTLD DYTT?

b. Make at least 8 sentences using $o& bringing out comparison
among A8, &, & and ©&.

ABE méeﬁo@. Model
38 60&%%@. N0 $08 61 VS ard.
B30%H é"g)og’agﬁ)@. ©¢s 08 J z‘Dé‘l&.

OBH DETORE).

c. Fill up the blanks with the gerund forms of the verbs given in
parentheses.

Model B8 DQE0 e (29)3) So0DS .

3IE QYQZ0 AT0 HOVH F°C0.
1. &30 e (Dawg) D08 g0, 5. ¢ EHFD ...... (&8 o
2. e ... (AEF) S00DG 0. 6. ©HE ... (§6h) e 0.
3. S ... (5¢3059) Qo go. 7. QoGS o Qo8 ... (o)
4. RBE & S8 ... (F) Tor &o. T $Q0.
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d. Answer the following questions as shown in the model..

Model (i) Model (ii)

AS) 6D BoE &IE? 08 oy & sTO?

A3) 6 B0 & BE) 08 apir & sTo.
1. @5 & YI%o aH? 1. P DFHO0 $H0VE T°¢?
2. 83 0T BO& &TT? 2. 5% P 55305)25@;539 soO?

3. @8d ZaE dane GToIr? 3. WIVH JHPE YITEo TTO?

e. Change the following sentences into present negative.

1. 30 N0 SOVTN. 4. S0 Gl Q08 HETHO0.
2. V8¢ S0y b, 5. 0 808 Er8)0G0b.

3. S 288 FeoTH. 6. 0 o0& BRI

f. Answer the following questions using the cue words given in the

parentheses.

@ 1. 8D AHA8 ITE? (Tewso)

B 0L B0 EHoLITE. (23550)
& z%ﬁéi) BOGLO DSB8 Egom wod? (e350)
(9 Qoo $d? (e9$)0)

080 Do Fod? ($0-80)
38) Do FTYH? (§6-3DP)
TS D0 DRTN? (FE0-d0)
050 o WT? (Sot-Bows)

¢
o bRk~ LD

VOCABULARY

g0 difficulty

o  all over; every where
HEES darkness

20 light (n)

@0® °¢  not only that

@%&K}J office

o0&  so much; a lot

-80&  than (comparative marker
[See 25.5.])
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D¢ bad e to play (v.)

000 to show (v.t.) 8 a wrapper; cover page of
DOPET always a book; a card board
esés’ auto-rikshaw CRENG)[CPVIeRNI

DG elder (adj.) to draw pictures (v.)
Soeaoney kitchen ) teach (a skill) (v.)

S0 cooking (n) Fogecy) to sing

A younger (adj.)

GRAMMAR NOTES

25.1. In this lesson the gereme form of the verb is introduced. Gerund is
a type of verbal noun denoting the abstractness of the action denoted by the verb.
-0 /-0 -a aM/-va aM. is added to the verbal base to form the gerund.

&30 tina aM ‘eating’ TS0 rava aM ‘coming’

25.1.1. -3¢0 -va aMis added to the monosyllabic bases such as T 77 ‘to
come’, & po ‘to go’, etc. The compound bases (formed by adding T rZ and
2 poto a base) such as 00T isukura ‘to bring’ SO tsukupo ‘to take
away’, 0 paripo ‘to run away’, (9 nidrapo ‘to sleep’, etc. also behave
like T ra and &° po. Hence they also take —s¢0 -va aMto become gerunds.

TS&0 rava aM ‘coming’ S0$HTS&0  tisukurava aM  ‘bringing’
PS50 pova aM ‘going’  S0HNFSE0  tisukupova aM ‘taking away’
QPS¢0 nidrapova aM  “sleeping’
TOPS0  paripova aM  ‘running away’
25.1.2. -0 -a aM is added to the other bases.
B + ©®LO = 8IL0 tinu + a aM = tina aM ‘eating’ (2.12.2.)
FONg + WO = Fo§L0 poyyi + a aM = poyya aM ‘pouring’
TOoN + &0 = TO&O 1ayl + a aM = raya aM ‘writing’
§e0 + o = QLo ko u+a aM = ko a aM ‘beating/hitting’
WY + @O = WBASLO  cadava aM ‘reading’ (2.12.2.; 15.5.1.)

391


Eklavya Sharma


An Intensive Course in Telugu

QTETCR + @0 = JEXCeed0 ma ladu + a aM = ma lada aM ‘talking’
&08 + &0 = &80 tisuko + a aM = tisuko aM ‘taking’ (3.13.1.)
NS + o = IS o nilco + a aM = nilco aM ‘standing’

25.2. The gerund suffix -e¢0 /-Sé0 -a aM/-va aM has a variant
—@9¢0 /-3¢0 -adaMy/-vadaM. Hence we can have the -eé0/-d&o0 -
a aMy-va aM forms and -0 /-¢0 -adaMy/-vadaM forms for all the verbs
without any change in the meaning.

BIL0 /&3¢0  fina aM/tinadaM ‘eating’
TS0 /T°ICG0 rava aM/ravadaM ‘coming’
&80 /&rEé0 kitrco aM/kircodaM ‘sitting’
€9C6E00 / €8¢ecs0 ada aMyadadaM ‘playing’

253. The presentnegative forms of the verb are also introduced in this
lesson. The negative verb & /éduis added to the gerund form (25.1.;25.2.)
of the verb to form the present negative.

&3¢0 B tina aM Iedu ‘is/are not eating’

T3¢0 B0 rava aM Iédu ‘is/are not coming’
ATETCe0 B¢ ma lada aM Iédu ‘is/are not talking’
PS¢0 B povadaM Ieédu ‘is/are not going’

253.1. The present negative froms do not maintain any agreement with the
person-gender-number of the subject noun. Hence no personal suffixes are
used in the formation of the present negative forms.

A0 DT A DeE0BL.

nénu veltunnaniu. nénu vella aMlédu.

‘I am going.’ ‘I am not going.’

200 /5030 DEYT0. 0 /5050 D)E0B.
méMy/manaM veltunnaM. meéMy/manaM vella aMIédu.

‘We are going.’ ‘We are not going.’

309G DEITND. 0533 D)oB.

nuvvu veltunnavi. nuvvu vella aMlédu.

‘You (non-hon. sg.) are going.’ “You (non-hon. sg.) are not going.’
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08> DTS,

miru veltunnaru.

“You (hon. sg. & pl.) are going.’

T [ OB HFYICE0.
vaduw/atanu veltunnadu.
‘He (inf. & eql.) is going.’
B0 LEITN.

ayana veltunnaru.

‘He (hon.) is going.’

©h /e .
adi/ame veltoMdi.

‘She (inf. & eql.) is going.’
B /B HFITB0.
ame/avida veltunnaru.
‘She (hon.) is going.’

6O HETN 0.

varu veltunnaru.

‘He/She (formal) is going.’
TEY) HEIN.

vallu veltunnaru.

“They (hum.) are going.’
@0 0.

adi veltoMdi.

‘It is going.’

D DEYIMNQX.

avi veltunnayi.

“They (neut.) are going.’

Lesson 25
FobYet b@?@é&oécﬁa.

miru vella aMIédu.

‘You (hon. sg. & pl.) are not going.’
T /B8 )LD
vadw/atanu vella aM/[édu.
‘He (inf. & eql.) is not going.’
00 )OS

ayana vella aMlédu.

‘He (hon.) is not going.’

@0 /20 IE)LOBL.
adi/ame vella aMlédu.

‘She (inf. & eql.) is not going.’
e /eAE D%)OBE.
ame/avida vella aMIédu.
‘She (hon.) is not going.’

T )LD,

varu vella aMIédu.

‘He/She (formal) is not going.’
TE) DE)LoB.

vallu vella aMlédu.

“They (hum.) are not going.’
©0 H)LOBE.

adi vellataMlédu.

‘It is not going.’

@ D¢)RoB.

avi vella aMIédu.

“They (neut.) are not going.’

254. The verbal base @y ceppu ‘to say; to tell; to inform; to narrate;
to teach’ becomes @ cep or e cebu when followed by a suffix beginning
with & .
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DY + BT~ = DD-S0TE /D200~ B0T
= VYT /DeNSIT) ‘He is saying.’
ceppu + tunnadu = cep-tunnadu/cebutunnadu

Remember that the base &%9) vellu ‘to go” also reduces its final consonant cluster

to a single consonant when followed by a suffix beginning with & #(21.4.).
DF+ET)- = HE-ET)- = YT ‘He is going.’
vellu + tunnadu = vel-tunnadu

25.5. Comparative marker -80& -kaM e ‘than’ is also introduced in

this lesson. This is used to compare two or more objects. —50& -kaM e is
added to the oblique base (8.9.; 8.9.1.) of a noun.

S R0E E0& & 2wy Q&. ‘Yours house is bigger than our house.”
ma iM i kaM e mi illu peddadi.
32 $0B (9 DI T. ‘Gopi is younger than Ravi.’

ravi kaM e gopi cinnavadu.

25.6. Notice the use of the dubitative marker -& -6 (15.1.1.) in sen-

tences like the following.

[OPE W) $o& BG “Whether or not there is a bus now.’
1ppudu bassu uMdo 1édo!
©33 WerTS 56 “Whether or not he is Subbarao!’

atanu subbaravo kado!
Here it expresses uncertainty.

25.7. The @0 aM ending nouns change their final @0 aMto e ani

when followed by the accusative or dative case suffix.

S00 + acc. = &7 +acc. (20.2.) = E5A-Q = &) (25.9.) ‘pen (acc.)’
kalaM + acc. = kalani + acc. ni (20.2.) = kalanni (25.9.)

%0 + dat. = YIS + dat.§ (13.1.) = YPI5IE ‘to the book’
pustakaM + dat. = pustakani + dat. ki (13.1.) = pustakaniki
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Recall that the ‘accusative case suffix is -0 -n7 and the dative case suffix is
-8 -k7/ when the base ends in - 7or —-&s 7(20.2.; 13.1.).

25.8. Notice the various semantic shades of the verbal base oxg veyyi.

©& Dog a aveyyi ‘to put a wrapper (on a book)’
&5 &53%@3 S0w§ bommalu veyyi ‘to draw a picture’

S0 wON§  falupu veyyi ‘to shut a door’ (8.3.1.)

Seo doxg  lar uveyyi ‘to turn on a light’ etc.

25.9. Notice the following sandhi process.

oV + I = T (accusative form of & adi[3.5.])
dani + ni = danni
RV + J = YISV (accusative form of Y0 pustakaM [25.7.])

pustakani + ni = pustakanni
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